
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
CLASS : X

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (25+25+25+25)=100

1. 'BRIC', an organisation of 4 nations namely Brazil, Russia, India, and China has now become 'BRICS' Which
is

the fifth nation included in it ?
'BRIC' éc÷ä$K÷ $Jôç×»FX aVaî åV` å^ãX [ýÐç×L_, »ç×$K÷Ì̂ ç, \öç»Tö %ç»Ó $JôÝX» AOôç aeØšöç [ýwïø]çãX 'BRICS' ×c÷$JôçãY LXç ̂ çÌ̂ * +Ì̂ çTö Y‡û] åV`
×c÷$JôçãY åEõçXFX åV`Eõ %Ü™ö\ÉöÛNþ Eõ»ç éc÷ä$$K÷ ?
'BRIC' »JôçÌ[ý aVaî åVã Ì̀[ý aeØšöç å^]X [ýÐç×L_, Ì[ýç× Ì̀̂ ç, \öçÌ[ýTö A[ýe »JôÝX, aç¶YÒ×TöEõçã_ 'BRICS' A Y×Ì[ýSTö c÷Ì̂ * åEõçX åV`×Oô Y‡û] åV`
×c÷açã[ý %Ü™ö\ÇöÛNþ c÷Ì̂  ?
(A) Spain (B) Sri Lanka (C) South Korea (D) South Africa

å&+X Ò̀Ý_eEõç V×lùS åEõç×»Ì̂ ç V×lùS %ç×ZÐõEõç
å&X Ò̀Ý_áøç V×lùS åEõç×Ì[ýÌ̂ ç V×lùS %ç×ZÐõEõç

2. Bharat Ratna has not been awarded to ..................... till now.
........................... aEõ_Eõ A×TöÌ̂ çé_ãEõ "\öç»Tö »±óö' aX½çãXã» aX½ç×XTö Eõ»ç åc÷ç¾ç Xç+*
"\öçÌ[ýTöÌ[ý±óö' a¶ö‚çãX aX½ç×XTö EõÌ[ýç c÷Ì̂ ×X .................................. åVÌ[ý AFX Y ï̂Ü™ö*
(A) Freedom Fighters (B) Singers (C) Sports Personalities (D) Presidents of India

Ø‘öçWýÝXTöç aeGÐç]Ý GçÌ̂ Eõ åF_Çê¾ / åFã_çÌ̂ çQÍö  \öç»Tö» »çrÑôY×Tö»/\öçÌ[ýãTöÌ[ý Ì[ýçrÑôY×Tö

3. Assam has 'Project Tiger' in ....................
%a]» ........................ Tö [ýçHÐ YÒEõYÀ %çä$K÷*
%çaçã] "[ýÐçHî YÒEõ”' %çä»K÷ f
(A) Orang, Pabitora, Manas (B) Nameri, Bidru, Saikhowa, Orang

C»çe, Y×[ýTö»ç, ]çXçc÷ Xçã]×», ×Qö[ýÐÓ-è$JôãFç¾ç, C»çe
CÌ[ýçe, Y×[ýTöÌ[ýç, ]çXa Xçã]×Ì[ý, ×Qö[ýÐÓ-éaãFçÌ̂ ç, CÌ[ýçe

(C) Manas, Nameri, Kaziranga (D) Sonai-Rupai, Pabitra, Laukhowa
]çXçc÷, Xçã]×», Eõç×L»†ç åaçSç+-»ÖYç+, Y×[ýTö»ç, _çCãFç¾ç
]çXa, Xçã]×Ì[ý, Eõç×LÌ[ý†ç åaçXç+-Ì[ýÖYç+, Y×[ýTöÌ[ýç, _ç=ãFçÌ̂ ç

4. Among the following Northeastern states the one having the largest forest coverage is ................
%çOôç+TöêEõ å[ý×$K÷ [ýXç‡û_ UEõç =wø»-YÉ¾ \öç»Tö» »çLîFX éc÷ä$$K÷ ...........................*
a[ý»Jôç+ãTö å[ý`Ý [ýXç‡û_ UçEõç =wøÌ[ý-YÉ[ýï \öçÌ[ýãTöÌ[ý Ì[ýçLî×Oô c÷_ ...........................*
(A) Arunachal Pradesh (B) Manipur (C) Mizoram (D) Assam

%»ÓSç$Jô_ YÒãV` ]×SYÇ» ×]ãLç»ç] %a]
%Ì[ýÓXç»Jô_ YÒãV` ]×SYÇÌ[ý ×]ãLçÌ[ýç] %çaç]

5. In a film production 'The Martini Shot' is
$Jô_×$Jôy ×X]ïçS» \öçbçTö "]ç×Oô×X Ÿ̀Oô' ]çãX .........................
»Jô_×¬Jôy ×X]ïçãS, "]ç×OôÛ×X ̀ Oô' c÷_ ..........
(A) The first shot of the film (B) The first shot of a day

å[ýç_$K÷×[ý» YÒU] Ÿ̀Oô ×VX» YÒU] ̀ ŸOô
»K÷×[ý×OôÌ[ý YÒU] `OËô AEõ×Oô ×VãXÌ[ý YÒU] ̀ OËô

(C) The last shot of the film (D) The last shot of a day
å[ýç_$K÷×[ý» å`b ̀ ŸOô ×VX» å`b ̀ ŸOô
»K÷×[ý×OôÌ[ý å`b `OËô AEõ×Oô ×VãXÌ[ý å`b ̀ OËô
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General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX



6. Diwan-i-khas, the hall for private audience in Delhi was built by .........
×V{Ý» "×V¾çX-+-Fç$Jô' [ýî×NþGTö æ Ò̀çTöç» [ýçã[ý UEõç a\öç GÊc÷äOôç ......................... ×X]ïçS Eõ×»×$K÷_*
"×VCÌ̂ çX-+-FçaË', [ýî×NþGTö æ Ò̀çTöçãVÌ[ý LXî a\öçHÌ[ý, ×X]ïçS EõãÌ[ýX .......................
(A) Akbar (B) Humayun (C) Shah Jahan (D) None of these

%çEõ[ýã» §]çÌ̂ ÇãX Ÿ̀çc÷Lçc÷çãX ALãXç Xc÷Ì̂
%çEõ[ýÌ[ý §]çÌ̂ ÇX `çc÷Lçc÷çX =XçãVÌ[ý åEõc÷+ XX

7. When three months or more has elapsed between the date of the cheque and its presentation, the cheque is
said to be a .................... cheque.
æ$JôEõ YÒVçX Eõ»ç Töç×»F %ç»Ó L]ç ×VÌ̂ ç Töç×»F» ]Wýî¾wøÞ a]Ì̂  ̂ ×V ×Tö×X ]çc÷ [ýç TöçTöêEõ å[ý×$K÷ c÷Ì̂  åTöãÜ™ö æ$JôEõäOôçEõ ..................... æ$JôEõ å[ýçã_*
æ»JôEËõ YÒVçãXÌ[ý Töç×Ì[ýF C L]ç åVCÌ̂ çÌ[ý Töç×Ì[ýãFÌ[ý ]Wýî[ýTöÞ a]Ì̂  ^×V ×TöX ]ça [ýç TöçÌ[ý æ»JôãÌ̂  å[ý`Ý c÷Ì̂  Töã[ý æ»JôEõ×OôãEõ ............... æ»JôEõ [ýã_*
(A) Dead (B) Expired (C) Invalid (D) Stale

åQöQËö AjYçÌ̂ çQïö +Xã\ö×_Qö æºOô_

Directions (Q. 8 to 10) stydy the following information to answer these questions :
Tö_Tö ×VÌ̂ ç TöUî» CY»Tö ×\ö×wø Eõ×» YÒ̀ Âa]Éc÷» =wø» ×VÌ̂ çf / XÝä»JôÌ[ý TöãUîÌ[ý =YÌ[ý ×\ö×wø EõãÌ[ý YÒ̀ Âm×_Ì[ý =wøÌ[ý VçC f
In a certain code
åEõçãXç AOôç ×X×•Ûrô ×_FX Yˆù×TöTö / åEõçX AEõ×Oô ×X×•Ûrô ×_FX Yˆù×TöãTö
"Books and pens" is writter as "Ko Po Che"
"Books and pens" Eõ ×_Fç c÷Ì̂  "Ko Po Che" ×c÷JôçãY / "Books and pens" åEõ ×_Fç c÷Ì̂  "Ko Po Che" ×c÷açã[ý
"We read books" is written as "Pa Jo Ko"
"We read books" Eõ ×_Fç c÷Ì̂  "Pa Jo Ko" ×c÷JôçãY / "We read books" åEõ ×_Fç c÷Ì̂  "Pa Jo Ko" ×c÷açã[ý
"Pens write well" is written as "He Pe Che"
"Pens write well" Eõ ×_Fç c÷Ì̂  "He Pe Che" ×c÷JôçãY / "Pens write well" åEõ ×_Fç c÷Ì̂  "He Pe Che" ×c÷açã[ý
"Read more books" in written as "Pa Ko Te"
"Read more books"  Eõ ×_Fç c÷Ì̂  "Pa Ko Te" ×c÷JôçãY / "Read more books"  åEõ ×_Fç c÷Ì̂  "Pa Ko Te" ×c÷açã[ý

8. What is the code for pens ?
pens » aeãEõTöäOôç ×Eõ ? / pens AÌ[ý aeãEõTö×Oô ×Eõ ?
(A) Ko (B) Jo (C) Che (D) Pe

9. Which of the following may represent 'more books' ?
Tö_» åEõçXäOôçã¾ 'more books' [ýÇLçÌ̂  ? / XÝä»JôÌ[ý åEõçX×Oô 'more books' aÉ×»JôTö EõãÌ[ý ?
(A) Jo Ko (B) Te Ko (C) Ko Po (D) Pe Che

10. What is the code for 'Read' ?
'Read' » aeãEõTöäOôç ×Eõ ? / 'Read' AÌ[ý aeãEõTö×Oô ×Eõ ?
(A) Po (B) Te (C) Pa (D) He

11. Connection or link to other documents or web pages that contain related information is called :
AOôç TöUî» %çX AOôç TöUî» [ýç å¾[ý åYL» _GTö UEõç aeã^çG [ýî¾ØšöçEõ åEõç¾ç c÷Ì̂  ..............................*
AEõ×Oô TöãUîÌ[ý %YÌ[ý AEõ×Oô TöUî [ýç CãÌ̂ [ý åYãLÌ[ý aã† UçEõç aeã^çG [ýî[ýØšöçãEõ [ý_ç c÷Ì̂  ...........................*
(A) Homepage (B) e-Mail  (C) Hyperlink (D) e-Cash

12. India opted for a federal form of government because of "
\öç»Tö[ýbï+ Ç̂Nþ »çrÑôÝÌ̂  `çaX [ýî¾Øšöç YÒ$Jô_X Eõ»çTö ]ÉFî Eõç»S c÷'_ ............* / \öçÌ[ýTö[ýbï ^ÇNþÌ[ýçrÑôÝÌ^ `çaX [ýî[ýØšöç GÐc÷S EõÌ[ýçÌ[ý ]ÇFî EõçÌ[ýS c÷_ f
(A) Vast territory (×[ý`ç_-\ÉöF‰ø) (B) Cultural Integration (açe•Êõ×TöEõ aec÷×Tö)
(C) Linguistic and regional diversity (D) administrative convenience
\öç×bEõ %ç»Ó %ç‡û×_Eõ é[ý×$JôyTöç / \öç×bEõ C %ç‡û×_Eõ é[ý×»JôyîTöç YÒ̀ çaX aÇ×[ýWýç / YÒ̀ çaãXÌ[ý aÇ×[ýWýç



13. The winner of the 60th Dada Saheb Phalke Award's 2012, announced recently is :
%_YãTö åHçbSç Eõ»ç 60 Tö] "VçVçaçãc÷[ý Zõç_ãEõ' [ýOôç 2012 » ×[ýãLTöç éc÷ä$K÷ .........................
×Eõ»KÇ÷×VX YÉã[ýï åHç×bTö 60 Tö] VçVçaçãc÷[ý Yç_ãEõ YÇÌ[ý•õçÌ[ý 2012 AÌ[ý ×[ýãLTöç ---
(A) Soumitra Chatterjee (B) Lata Mangeskar (C) Amitabh Bacchan (D) Pran Krishan Sikand

åaì×]y $JôîçOôçLÞ _Töç ]çã† Ÿ̀Eõç» %×]Töç\ö [ý¬JôX YÒçS EÊõbS ×$JôEõ³V
åaì×]y »JôîçOôçLÞ _Töç ]ã†`EõÌ[ý %×]Töç\ö [ý¬JôX YÒçS EÊõbçS ×aEõ³V

14. The intended destination of the ill-fated ship 'Titanic' was the city of ...................
%×\ö`Š Lçc÷çL "Oôç+Oôç×XEõ'» Y×»Eõ×”Tö GÜ™ö[ýîØšöçX %ç×$K÷_ .............................. $Jôc÷»*
%×\ö`Š Lçc÷çL "Oôç+Oôç×XEõ' AÌ[ý Y×Ì[ýEõ×”Tö GÜ™ö[ýîØšö_ ×»K÷_ ................................ `c÷Ì[ý*
(A) Washington (B) New York (C) California (D) Los Angeles

C¾ç× Ÿ̀eOôX ×X= +Ì̂ Eïõ åEõ×_ãZõç×SïÌ̂ ç _$Jô Aãt_$Jô
CÌ̂ ç×`eOôX ×X= +Ì̂ Eïõ åEõ×_ãZõç×SïÌ̂ ç _a Aã³L_a

15. In India a UA certified Film can be shown only after .................
\öç»TöTö U/A ]çEïõç $K÷×[ý »ç×Tö ....................... [ýLç» Yç$K÷Tö åVFÇ¾ç c÷Ì̂ */ \öçÌ[ýãTö U/A ]çEïõç »K÷×[ý åVFçãXç c÷Ì̂  ............................. OôçÌ[ý YÌ[ý*
(A) 8 pm (B) 9 pm (C) 10 pm (D) 11 pm

16. The members of ....................... are also known as 'Black Cats'
............................... aVaî aEõ_Eõ æ[ýÀEõ åEõOôa ×c÷$JôçãYC LXç ^çÌ̂ * / ........................... AÌ[ý aVaîãVÌ[ý "æ[ýÀEõ åEõOô' Xçã]C LçXç ^çÌ̂ *
(A) Rapid Action Force (RAF) (B) Border Security Force (BSF)

å»×YQö AEõ$JôX Zõ$JôÛ / åÌ[ý×YQö AEõ`X Zõ$aï [ýQïöç» ×$JôEÇõ×»×Oô Zõ$JôÛ / [ýQïöçÌ[ý ×a×Eõ=×Ì[ý×Oô Zõ$aï
(C) National Security Guard (NSG) (D) Central Industrial Security Force (CISF)

åX$JôãX_ ×$JôEÇõ×»×Oô GçQïö / XîçaãX_ ×a×Eõ=× Ì[ý×Oô GçQïö     æ$Jôä³®Ïô_ +‰øç×rÑôãÌ̂ _ ×$JôEÇõ×»×Oô Zõ$JôÛ / æaä³®Ïô_ +‰øç×rÑôãÌ̂ _ ×a×Eõ=×Ì[ý×Oô Zõ$aï

17. In the Postal Code '781001' the last three digits '001' refer to
åYçärô_ EõQö '781001' » å`b» ×Tö×XOôç %eEõ '001' + .............................. Eõ [ýÇLçÌ̂ *
QöçEõ X¶‘öÌ[ý '781001' åTö å`b ×TöX×Oô %eEõ '001' ........................ åEõ [ýÇMõçÌ̂ *
(A) The Regional Zone (B)  The Revenue District (C) The delivery Post Office (D) None of these

%ç‡û×_Eõ ]‰ø_    »çLØ‘ö ×L_ç / Ì[ýçLØ‘ö ×L_ç ×[ýTö»SEõç»Ý QöçEõH»/×[ýTöÌ[ýSEõçÌ[ýÝ QöçEõHÌ[ý AOôçC Xc÷Ì̂ /AEõ×OôC
XÌ̂

18. 'AICTE', a statutory body for technical education, stands for :
Eõç×»Eõ»Ý ×`lùç» ×[ý×WýaX½Tö ×[ý\öçG 'AICTE'» a¶YÉSï »ÖY éc÷ä$K÷ .............* / 'AICTE' c÷_ Eõç×Ì[ýGÌ[ýÝ ×`lùçÌ[ý ×[ý×\öaX½Tö ×[ý\öçG, ^çÌ[ý YÉSï Ì[ýÖY c÷_

.........*
(A) All India Council for Technical Education (B) All India centre for Technical Education
(C) All India Council for Technological Education (D) All India centre for Technological Education

19. 'Xatria Nritya' was reconginsed as one of the classical dance forms of India by the Sangeet Natak Akademi
in the Year :
........................ $JôXTö aeGÝTö XçOôEõ AEõçãQö]ÝãÌ̂  "ayÝÌ̂  XÊTöîEõ' \öç»Tö» ̀ çØ—öÝÌ̂  XÊTöî ×c÷$JôçãY ]çXîTöç ×VãÌ̂ *
a†ÝTö XçOôEõ AEõçãQö]Ý "ayÝÌ̂  XÊTöî' ãEõ ................................. aãX \öçÌ[ýãTöÌ[ý `çØ—öÝÌ̂  XÊãTöîÌ[ý Ø‘öÝEÊõ×Tö åVÌ̂ *
(A) 1985 (B) 1995 (C) 2000 (D) 2010

20. Nine Latin American countries have agreed on the creation of a regional currency called ................
å_×OôX %çã]×»Eõç» XFX åVã` =ê]c÷TöÝÌ̂ ç \öçã[ý YÒ¾TöÛX Eõ»ç %ç‡û×_Eõ ]ÇVÐçäOôç éc÷ä$K÷ .........................
å_×OôX %çã]×Ì[ýEõçÌ[ý XÌ̂ ×Oô åVã Ì̀[ý YÒ[ýwïøX EõÌ[ýç YÒ»Jô×_Tö %ç‡û×_Eõ ]ÇVÐç×Oô c÷_ ................*
(A) Sucre (B) Alba (C) Hugo (D) Euro

$JÇôEõç»/ aÇEõçÌ[ý %ç_[ýç §ãGç +=» / +=ãÌ[ýç



21. By which other name do we better know Abdur Rahman in the stories of Rabindranath Tagore ?
»[ýÝ³VÐXçU PöçEÇõ» G”» $Jô×»y %çŒÇ» »c÷]çX ............................. Xçã]ã» %×WýEõ LXçLçTö*
Ì[ý[ýÝ³VÐXçU PöçEÇõãÌ[ýÌ[ý Gã”Ì[ý "%çŒÇÌ[ý Ì[ýc÷]çX'åEõ %ç]Ì[ýç ............................ Xçã] C Lç×X*
(A) Postmaster (B) Kabuliwallah (C) Gora (D) Pathan Chacha

åYçrô ]çrôç» / åYçrô ]çºOôçÌ[ý Eõç[ýÇ×_¾ç_ç / Eõç[ýÇ×_CÌ̂ ç_ç åGç»ç / åGçÌ[ýç YçPöçX $Jôç$Jôç

22. Which part of the human eye is used during an eye transplant ?
$JôEÇõ aeã»çYS» a]Ì̂ Tö $JôEÇõ» ..................... %e` [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
»JôlÇù aeãÌ[ýçYãXÌ[ý a]Ì̂  ]çX[ý »JôlÇùÌ[ý ..................... %e` [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
(A) Retina (B) Iris (C) Lens (D) Cornea

å»×OôXç / åÌ[ý×OôXç %ç+×»$Jô / %ç+× Ì[ýa å_³a Eõ×SïÌ̂ ç

23. The first member of the Gandhi Family to win a Lok Sabha election from Amethi is
%çã]×U» Y»ç å_çEõa\öç ×X[ýïç$JôXTö LÌ̂ Ý åc÷ç¾ç GçµùÝ Y×»Ì̂ ç_» YÒU] [ýî×NþLX éc÷ä$K÷ ...........
å_çEõa\öç ×X[ýïç»JôãX "%çã]×U' åUãEõ LÌ̂ Ý c÷CÌ̂ ç GçµùÝ Y×Ì[ý[ýçãÌ[ýÌ[ý YÒU] [ýî×Nþ f
(A) Feroze Gandhi (B) Sanjay Gandhi (C) Rajiv Gandhi (D) Rahul Gandhi

×Zõã»çL GçµùÝ/×ZõãÌ[ýçL GçµùÝ atÌ̂  GçµùÝ »çLÝ[ý GçµùÝ/Ì[ýçLÝ[ý GçµùÝ »ç§_ GçµùÝ/Ì[ýç§_ GçµùÝ

24. If India and Australia contest for Border-Gavaskar Troghy in the cricket Test Series, then India and England
contest for ........................ trophy in India.
^×V \öç»Tö %ç»Ó %ärÑô×_Ì̂ ç» ]çLTö ×yÔãEõOô æOôrô ̀ ÊeF_ç [ýQïöç» Gç\öç•õç» ®Ïô×Zõ» [ýçã[ý %XÇ×œöTö c÷Ì̂ * åTöãÜ™ö \öç»Tö %ç»Ó +eã_‰ø» ]çLTö \öç»TöTö æOôrô
ỀeF_ç %XÇ×œöTö c÷Ì̂  ..................... ®ÏôZõÝ» [ýçã[ý*

^×V \öçÌ[ýTö C %ärÑô×_Ì̂ çÌ[ý ]ãWýî ×yÔãEõOô æOôºOô ̀ ÊeF_ç %XÇ×œöTö c÷Ì̂  [ýQïöçÌ[ý-Gç\öçaEõçÌ[ý ®Ïô×ZõÌ[ý LXî, Töã[ý \öçÌ[ýTö C +eã_ã‰øÌ[ý ]ãWýî \öçÌ[ýãTö æOôºOô
Ề…_ç %XÇ×œöTö c÷Ì̂  ................................. ®Ïô×ZõÌ[ý LXî*

(A) Pataudi (B) Gooch Gavaskar (C) MA Chimdambar (D) Anthoney de mello
YçãTöì×V m$Jô-Gç\öç•õç» A]. A. ×$JôVç¶‘ö»] %³Oô×X ×Qö å]ã_ç
YçãTöì×V m»Jô-Gç\öçaEõçÌ[ý A] A ×»JôVç¶‘öÌ[ý] Aîç³OôXÝ ×Qö ×]ã_ç

25. Chanakya trained Chanadragupta Maurya in the art of war and politics at ..........................
$JôçSEõî+ $Jô³VÐ mŠ å]ì ï̂îEõ a]» Eõ_ç C »çLXÝ×Tö» ×`lùç ......................... Tö ×V×$K÷_*
»JôçXEõî YÒ×`lùS åVX »Jô³VÐmŠ å]ì ï̂ãEõ a]Ì[ý Eõ_ç C Ì[ýçLXÝ×Tö ×[ýbãÌ̂  ............................ åTö*
(A) Takshashila (B) Kashi (C) Ujjain (D) Nalanda

Tölù`Ý_ç Eõç`Ý =¯L×Ì̂ SÝ Xç_³Vç

General English

Pick out the correct one from the following sentences :
26. (A) My savings is not much. (B) My saving is not much.

(C) My savings are not much. (D) My saving are not much.
27. (A) I, you and he will watch a film tonight. (B) He, you and I will watch a film tonight.

(C) You, he and I will watch a film tonight. (D) I, he and you will watch a film tonight.
28. (A) His where about  is not known. (B) His where abouts are not known.

(C) His where abouts is not known. (D) His where about are not known.
29. (A) There are a dozen eggs in that basket (B) There is a dozen egg in that basket

(C) There is dozen eggs in that basket (D) There are dozens eggs in that basket.



30. (A) let he and me do the job. (B) let him and me do the job.
(C) let he and I do the job. (D) let him and I do the job.

31. One of the sentences below is not correct. Pick it out.
(A) I have come to ask your advice. (B) I came to ask your advice.
(C) I come to ask your advice.. (D) I was coming to ask your advice.

Fill in the blanks with the appropriate choice :
32. If you heat ice , it ......................

(A) must melt (B) melts (C) will melt (D) should melt
33. A few people knew the answer , ......................

(A) isn't  it? (B) don't a few ? (C) didn't they ? (D) didn't a few ?
34. He is the guest ...................... we have invited to the function.

(A) whom (B) who (C) that (D) to whom
35. Do not cry ......................  spilt milk.

(A) for (B) on (C) over (D) under
36. He was received ......................  open arms.

(A) in (B) by (C) with (D) to
37. This building comprises ...................... twenty rooms.

(A) of (B) with (C) in (D) None of these.
38. When I was a child I ...................... the flute.

(A) played (B) was playing (C) had been playing (D) had played
39. I would rather you ......................a taxi.

(A) took (B) take (C) would take (D) had better
Choose the most appropriate response  the sentence given below :
40. The mangoes don't taste good.

(A) Yes, they aren't. (B) No, they aren't. (C) Yes, they don't. (D) No, they don't.
The words in bold underline are numbered 1 and 2. Identify the parts of speech.
41. There is much truth in his report that the patient is much better.

          1                                  2
(A) 1 is adjective and 2 is adverb. (B) 1 is pronoun and 2 is participle
(C) 1 is noun and 2 is verb. (D) 1 is adverb and 2 is adjective.

42. "I saw him carrying a box".
If we change the above sentence in active voice to passive voice , it will read like :

(A) I saw a box being carried by him. (B) He was seen carrying a box
(C) A box was seen carried by him. (D) Both (A) and (B) are correct

43. "All orders will be executed promptly".
If we change the above sentence in passive voice to active voice , it will read like :

(A) Promptly will execute all orders. (B) We will execute all orders promptly
(C) Executed will all orders promptly. (D) Orders will be executed by all promptly.



Choose the alternative which best expresses the meaning of the given idiom/phrase.
44. I had to pull strings to put up a good show.

(A) play music (B) use personal influence
(C) use the instrument (D) play a song

Choose the one which best expresses the meaning of the given word from the following:
45. Cajole

(A) Insist (B) Persuade (C) Flatter (D) Recommend
Choose the word opposite in meaning to the given word.
46. Implicit

(A) Explicit (B) Implied (C) Explained (D) Exquisite
In the following question, one word is correctly spelt. Find the correctly spelt word.
47. (A) Leutinant (B) Lieutenant (C) Lieutinent (D) Lieutanant
48. The latin phrase 'Magnum Opus" means :

(A) a popular opera (B) a great work of art
(C) mode of doing something (D) a chemical used in operation

49. A large spoon used for serving food is :
(A) teaspoon (B) bottle spoon (C) table spoon (D) lunch spoon

50. 'Melt' is related to 'liquid' in the same way as  'freeze' is related to ...............
(A) ice (B) crystal (C) water (D) cubes

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

51. If 6 2.449=  then the value of 3 2
2 3

 is close to .......................

^×V 

6 2.449=

 c÷Ì̂  åTöãÜ™ö 
3 2
2 3

 » %ça~ ]çX .................................*  /   ^×V 

6 2.449=

 c÷Ì̂  Töã[ý 
3 2
2 3

 AÌ[ý %ça~ ]çX ..................................

(A) 0.816 (B) 0.613 (C) 1.225 (D) 2.449

52. If 

2( ) 5f x x x p= + +

 and

2( ) 3g x x x q= + +

 have a common factor, then 

2( )p q−

 =................
^×V 2( ) 5f x x x p= + +  %ç»Ó 

2( ) 3g x x x q= + +

» =ê]c÷TöÝÌ̂ ç =dYçVEõ UçãEõ åTöãÜ™ö 

2( )p q−

 =................
^×V 2( ) 5f x x x p= + +  C 

2( ) 3g x x x q= + +

 AÌ[ý açWýçÌ[ýS =dYçVEõ UçãEõ, Töã[ý 

2( )p q−

 =................
(A) 2(5 3 )p q− (B) 2(3 5 )p q− (C) 3 5p q− (D)

5 3p q−

53. Find the quadratic polynomial in x which when divided by (x-1), (x-2) and (x-3) leaves remainders of 11, 22 and
37 respectibely.
x ̂ ÇNþ ×¥HçTö [ý§YV »ç×`äOôç ×XSïÌ̂  Eõ»ç ̂ çEõ (x-1), (x-2) %ç»Ó (x-3) å» ×[ý\öçLî Eõ×»ã_ \öçGã`b yÔã] 11, 22 %ç»Ó 37 c÷Ì̂ *
x Ç̂Nþ ×¥HçTö [ý§YV Ì[ýç×`×Oô ×XSïÌ̂  EõÌ[ý ^çãEõ (x-1), (x-2) A[ýe (x-3) ¥çÌ[ýç \öçG EõÌ[ýã_ \öçGã`b yÔã] 11, 22 C 37 c÷Ì̂ *
(A)

22 5 4x x+ +

(B)

22 5 4x x− +

(C)

23 5 4x x− +

(D)

22 5 3x x− −



54. The sum of salaries of A and B are 

®ú

 2100. A spends 80% of his salary and B spends 70%. If their savings are
now in the proportion of 4:3, What is the salary of A ?
A %ç»Ó B » ]ÇPö V»]c÷ç 2100 OôEõç* A+ Töç» V»]c÷ç» 80% %ç»Ó B åÌ̂  70% F»$Jô Eõã»* ̂ ×V ×acg÷Tö» a‡ûÌ̂ » %XÇYçTö 4:3 c÷Ì̂  åTöãÜ™ö A

»
V»]c÷ç ×Eõ]çX ?
A A[ýe B AÌ[ý å]çOô å[ýTöX 2100 OôçEõç* A TöçÌ[ý å[ýTöãXÌ[ý 80% A[ýe B å[ýTöãXÌ[ý 70% FÌ[ý»Jô EõãÌ[ý* ^×V AãVÌ[ý a‡ûãÌ̂ Ì[ý %XÇYçTö 4:3 c÷Ì^
Töã[ý A AÌ[ý å[ýTöX EõTö ?
(A) ®ú 700 OôEõç (B) ®ú 1000 OôEõç (C) ®ú 1400 OôEõç (D) ®ú 1200 OôEõç

55. If 8.2x=50, then x=.............
^×V 8.2x=50 c÷Ì̂  åTöãÜ™ö x=............. / ̂ ×V 8.2x=50 c÷Ì̂  Töã[ý x=.............
(A) -3 (B) 3 (C) 2 (D) 4

56. If p is a positive integer and the roots of the equation 26 11 0x x p− + =  are rational numbers, then the smallest
value of p is ...........
^×V p AOôç WýXç±ÁEõ aeFîç %ç»Ó 

26 11 0x x p− + =

 a×]Eõ»S» ]É_ åEõ+Oôç Y×»ã]Ì̂  aeFîç c÷Ì̂  åTöãÜ™ö p » XÉSîTö] ]çX c÷[ý ..........................
^×V p AEõ×Oô WýXç±ÁEõ aeFîç A[ýe 

26 11 0x x p− + =

 a]ÝEõÌ[ýãSÌ[ý ]É_ EõÌ̂ ×Oô Y×Ì[ýã]Ì̂  aeFîç c÷Ì̂  Töã[ý p AÌ[ý XÉXîTö] ]çX c÷ã[ý .....................*
(A) 4 (B) 5 (C) 6 (D) None of these

AOôçC Xc÷Ì̂ /AEõ×OôC XÌ̂

57. If 

1 1 1 1 .........x = + + + +

, then...............

^×V 1 1 1 1 .........x = + + + + c÷Ì̂ , åTöãÜ™ö ...................* / ^×V 1 1 1 1 .........x = + + + + c÷Ì̂ , Töã[ý ...................*

(A) 1x = (B)

0 1x< <

(C)

1 2x< <

(D) x is infinite
x %aÝ]

58. If the 

m

th term of an AP is 

1
n

and 

n

th term is 

1
m

, then the sum of first 

mn

 terms is ..................
^×V AOôç a]çÜ™ö» æ Ò̀SÝ» 

m
Tö] YV 

1
n

 c÷Ì^ %ç»Ó 
n

Tö] YV 
1
m

 c÷Ì̂ , åTöãÜ™ö YÒU] 
mn

 YV» å^çGZõ_ c÷'[ý .......................*

^×V AEõ×Oô a]çÜ™öÌ[ý æ Ò̀SÝÌ[ý 
m

Tö] YV 1
n

 c÷Ì^ A[ýe 
n

Tö] YV 1
m
 c÷Ì^, Töã[ý YÒU] 
mn

 YãVÌ[ý å^çGZõ_ c÷ã[ý .......................*

(A)

1mn +

(B)

1
2

mn +

(C)

1
2

mn −

(D) None of these
AOôçC Xc÷Ì̂ /AEõ×OôC XÌ̂

59. The sum of all two digit natural numbers is ......................
VÇOôç %eEõ ×[ý×`rô %çOôç+ãEõ+Oôç Ø‘öç\öç×¾Eõ aeFîç» å^çGZõ_............................................
VÇ+ %eEõ ×[ý×`rô a[ýEõÌ̂ ×Oô Ø‘öç\öç×[ýEõ aeFîçÌ[ý å^çGZõ_ ..............................*
(A) 4950 (B) 4509 (C) 4905 (D) None of these

AOôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
60. In the figure AD||BE||CF and B is the mid point of AC. CD intersects BE at x. Then AD+CF is ...................

×$JôyTö AD||BE||CF %ç»Ó B éc÷ä$K÷ AC » ]Wýî ×[ý³VÇ* ^×V CD åÌ^ BE Eõ x ×[ý³VÇTö æ$K÷V Eõ×»ã_ AD+CF c÷[ý .........................*
×»Jôäy AD||BE||CF A[ýe B c÷_ AC AÌ[ý ]Wýî ×[ý³VÇ* ^×V CD æ»K÷V EõãÌ[ý BE åEõ x ×[ý³VÇãTö, Töã[ý AD+CF c÷[ý ................................*

D

A B C

E F

X

(A) 1
2

BE (B) 2BE (C)

1
2

AC (D) None of these
AOôçC Xc÷Ì̂ /AEõ×OôC XÌ̂



61. The points 

( , ), ( , )a a a a− −

 and 

( 3 , 3 )a a−

form the vertices of a/an .................
( , ), ( , )a a a a− −  %ç»Ó 

( 3 , 3 )a a−

 ×[ý³VÇ åEõ+Oôç+ AOôç ................................... » `Ý ï̀ ×[ý³VÇ c÷[ý*
( , ), ( , )a a a a− −  A[ýe 

( 3 , 3 )a a−

 ×[ý³VÇ EõÌ̂ ×Oô AEõ×Oô ........................................ AÌ[ý`Ýbï ×[ý³VÇ c÷ã[ý*
(A) scalene triangle (B) right angled triangle (C) equilateral triangle (D) None of these

×[ýb] [ýç§ ×Åy\ÉöL a]ãEõçSÝ ×Åy\ÉöL a][ýç§ ×Åy\ÉöL A»OôçC Xc÷Ì̂
×[ýb] [ýç§ ×Åy\ÇöL a]ãEõçSÝ ×Åy\ÇöL a][ýç§ ×Åy\ÇöL AEõ×»OôC XÌ̂

62. The point (-2,0) lies on ........................
(-2,0) ×[ý³VÇäOôç ..................................... Tö Uç×Eõ[ý*
(-2,0) ×[ý³VÇ×Oô .................................... åTö UçEõã[ý*
(A) + ve X-axis (B) + ve Y-axis (C) - ve X-axis (D) - ve Y- axis

WýXç±ÁEõ X %lù WýXç±ÁEõ Y %lù @Xç±ÁEõ X %lù @Xç±ÁEõ Y %lù
63. If tan sin mθ θ+ =  and 

tan sin nθ θ− =

 then 

2 2 .............m n− =

^×V tan sin mθ θ+ =  %ç»Ó 

tan sin nθ θ− =

 c÷Ì̂  åTöãÜ™ö 

2 2 .............m n− =

^×V tan sin mθ θ+ =  A[ýe 

tan sin nθ θ− =

 c÷Ì^ Töã[ý 

2 2 .............m n− =

(A) mn (B)

m
n

(C)

4 .mn

(D) None of these

A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
64. The value of 

0 0 0 0tan1 tan 2 tan 3 ................ tan89 ............=

0 0 0 0tan1 tan 2 tan3 ................ tan89  » ]çX 

............= 0 0 0 0tan1 tan 2 tan3 ................ tan89

 AÌ[ý ]çX 

............=

(A) 1 (B) 0 (C) -1 (D) None of these
A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂

65. A person walking 20m towards a chimney in a horizontal line through its base observes that its angle of
elevation changes from 300 to 450. The height of the chimney is ..................
ALX ]çXÇc÷ AOôç ×$Jô]SÝ» %çXÇ\Éö×]Eõ ×V`Tö 20 ×]Oôç» %çG[ýç×RÍô %çc÷çTö åV×Fã_ å^ ×$Jô]SÝäOôç» =PöXãEõçS 300 » 450 Y»ç é_ a_×X éc÷ä$K÷*
×$Jô]SÝäOôç» =¬JôTöç ...........................
AEõLX [ýî×Nþ AEõ×Oô »JÇô{ÝÌ[ý %çXÇ\Éö×]Eõ ×VãEõ 20 ×]OôçÌ[ý A×GãÌ̂  åGã_ åVFãTö YçX å^ »JÇô{Ý×OôÌ[ý =wø_X åEõçS 300 åUãEõ [ýVã_ 450 c÷ãÌ̂ ä»K÷*
»JÇô{Ý×OôÌ[ý =¬JôTöç ....................

(A)

20
3 1+

(B)

20
3 1−

(C)

20 3 1−

(D) None of these

A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
66. In the figure, ΔABC is isosceles. Then AD2 - AC2 = .........................

×$JôyTö ABC AOôç a]×ˆù[ýç§ ×Åy\ÉöL c÷ã_ AD2 - AC2 = .........................
×»Jôäy ABC AEõ×Oô a]×¥[ýç§ ×Åy\ÇöL c÷ã_ AD2 - AC2 = .........................

A

B C D

(A) AD x CD (B) BC x CD (C) BD x CD (D) AB x AD



67. If the area of a circle is A, radius of the circle is r and circumference of it is C then ..............
^×V AOôç [ýÊwø» Eõç×_ A, [ýîçaçWýï r %ç»Ó Y×»aÝ]ç C c÷Ì̂ , åTöãÜ™ö ..........................................*
^×V AEõ×Oô [ýÊãwøÌ[ý Eõç×_ A, [ýîçaçWýï r A[ýe Y×Ì[ýaÝ]ç C c÷Ì̂ , Töã[ý .....................................*.

(A)
2

C r
A
= (B)

2rC A=

(C)

2

4
rAC =

(D) A C
r
=

68. A cylindrical vessel of diameter 4m is party filled with water. 300 lead balls are dropped in it. The rise in water
level is 0.8m. The diameter of each ball is ..............
4 ×]Oôç» [ýîça» $JÇôIøç %çEÊõ×Tö» Yçy AOôç %çe×`Eõ \öçã[ý YçXÝã» YÉSï* ̂ ×V 300 Oôç VØ™öç» [ý_ YçyäOôçTö åY_ç+ ×VÌ̂ ç c÷Ì̂  åTöãÜ™ö +Ì̂ ç» YçXÝ» Ø™ö»
0.8 ×]Oôç» CY»ê_ =×Pöã_ YÒ×TöäOôç [ý_» [ýîça c÷[ý ...................................
4 ×]OôçÌ[ý [ýîçãaÌ[ý AEõ×Oô »JÇôIøç %çEÊõ×TöÌ[ý Yçy %çe×`Eõ\öçã[ý Lã_ YÉSï* ^×V 300 ×Oô VØ™öçÌ[ý [ý_ Yçy×OôãTö åZõ_ç c÷Ì^, Töã[ý +c÷çÌ[ý Lã_Ì[ýØ™öÌ[ý
0.8 ×]OôçÌ[ý =YãÌ[ý =Pöã_ YÒ×Tö×Oô [ýã_Ì[ý [ýîça c÷ã[ý ....................*
(A) 0.8 m (×].) (B) 0.4 m (×].) (C) 0.2 m (×].) (D) None of these

A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
69. One of the properties of Mode is .........................

[ý§_Eõ» AOôç Wý]ï éc÷ä$K÷ .......................* / [ý§_ãEõÌ[ý AEõ×Oô Wý]ï c÷_ ..........................*
(A) Not easy to calculate (B) It is not affected by greatest and least values.

×XSïÌ̂  Eõ»ç Eõ×PöX [ýÊc÷wø] %ç»Ó lÇùVÐTö] ]çãX +Ì̂ çEõ YÒ\öç×¾Tö XEõã»
×XSïÌ̂  EõÌ[ýç Eõ×PöX [ýÊc÷wø] C lÇùVÐTö] ]çX +c÷çãEõ YÒ\öç×[ýTö EõãÌ[ý Xç

(C) Algebraic (D) Difference of greatest and least values.
[ýÝLGç×STöÝEõ [ýÊc÷wø] %ç»Ó lÇùVÐTö] ]çX» YÒçUïEõî
[ýÝLGç×STöÝEõ [ýÊc÷wø] C lÇùVÐTö] ]çãXÌ[ý YÒçUïEõî

70. A histogram consists of .....................
×c÷rôGÐç] ................................ å» G×PöTö* / ×c÷rôGÐç] ................................. ¥çÌ[ýç G×PöTö*
(A) Sectors (B) Rectangles (C) Triangles (D) Squares

[ýÊwøEõ_ç %çÌ̂ Töãlùy ×Åy\ÉöL / ×Åy\ÇöL [ýGï

71. When two dice are thrown, the probability of getting a number always greater than 4 on the second dice is ...............
VÇOôç Qöç+$Jô AãEõ_ãG =dålùYX Eõ×»ã_ ×¥TöÝÌ̂  Qöç+$JôTö 4 TöêEõ QöçIø» aeFîç AOôç åYç¾ç» a•öç¾XÝÌ̂ Töç ........................
VÇ×Oô Qöç+a AEõaçãU =dãlùYX EõÌ[ýã_ ×¥TöÝÌ̂  Qöç+a×OôãTö 4 åUãEõ [ýQÍö aeFîç AEõ×Oô YçCÌ̂ çÌ[ý a•öç[ýXç ...........................

(A)

1
6

(B)

1
3

(C)

1
36

(D) None of these
A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂

72. Which of the following statements is true ?
Tö_» åEõçXäOôç =×Nþ aTöî ?
XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî ?
(A) Every point on the number line represents a rational number.

aeFîç å»Fç» YÒ×TöäOôç ×[ý³VÇãÌ̂  AãEõçOôç Y×»ã]Ì̂  aeFîçEõ [ýÇLçÌ̂ *
aeFîç åÌ[ýFçÌ[ý YÒ×Tö×Oô ×[ý³VÇ AEõ×Oô Y×Ì[ýã]Ì̂  aeFîçãEõ [ýÇLçÌ̂

(B) Irrational numbers can not be represented by point on the number line
aeFîç å»FçTö %Y×»ã]Ì̂  aeFîçEõ ×[ý³VÇ» ¥ç»ç =YØšöçYX Eõ×»[ý åXç¾ç×»
aeFîç åÌ[ýFçÌ^ %Y×Ì[ýã]Ì^ aeFîçãEõ ×[ý³VÇÌ[ý ¥çÌ[ýç =YØšöç×YTö EõÌ[ýãTö Yç×Ì[ý Xç

(C)

22
7

 is a rational number (D) None of these

22
7

 AOôç Y×»ã]Ì̂  aeFîç / 

22
7

 AEõ×Oô Y×Ì[ýã]Ì̂  aeFîç A$OôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
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73. If 

1
1

xA
x
−=
+

 then 

12 ......................
2

A
A

− =

^×V 
1
1

xA
x
−=
+  c÷Ì̂  åTöãÜ™ö 

12 ......................
2

A
A

− =

^×V 
1
1

xA
x
−=
+  c÷Ì̂  Töã[ý 

12 ......................
2

A
A

− =

(A)
2

2

3 10 3
2( 1)

x x
x
− −

− (B)
2

2

3 10 3
1

x x
x
− +
−

(C)
2

2

3 10 3
2( 1)

x x
x
+ +

− (D)
2

2

3 10 3
2( 1)

x x
x
− +

−

74. Which of the following system of equations has unique solution ?
Tö_» åEõçXä$Oôç a]ÝEõ»S YÒSç_Ý» AEõEõ a]çWýçX %çä$K÷ ? / XÝä»JôÌ[ý åEõçX a]ÝEõÌ[ýS YÒSç_ÝÌ[ý AEõEõ a]çWýçX %çä»K÷ ?
(A) 3 2,6 2 3x y x y+ = + = (B)

2 5 3,6 15 9x y x y− = − =

(C)

2 3,3 2 1x y x y− = − =

(D) None of these
A»OôçC Xc÷Ì̂  /AEõ×»OôC XÌ̂

75. The value of 

1 1 11
8 16 3242 .4 .16 .(256)

 is equal to ....................

1 1 11
8 16 3242 .4 .16 .(256)

 » ]çX ............................. / 

1 1 11
8 16 3242 .4 .16 .(256)

 AÌ[ý ]çX .............................

(A) 1 (B) 2 (C) 4 (D) 4

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

76. One cannot see through fog because ....................
EgÇõ¾_Ý» ]çãL×V [ýØ™Çö AOôç VỀ î]çX Xc÷Ì̂ , Eõç»S ....................................
EÇõÌ̂ ç`çÌ[ý ]Wýî ×VÌ̂ ç [ýØ™Çö VỀ î]çX Xç c÷CÌ̂ çÌ[ý EõçÌ[ýS ..............................
(A) fog absorbs light

EgÇõ¾_ÝãÌ̂  åYçc÷» å`çbS Eõã»
EÇõÌ̂ ç`ç %çã_ç å`çbS EõãÌ[ý

(B) refractive index of fog is unity
EgÇõ¾_Ý» YÒ×Töa»SçeEõ AEõ
EÇõÌ̂ ç`çÌ[ý YÒ×TöaÌ[ýSçeEõ AEõ

(C) light suffers total internal reflection at droplets in fog
EgÇõ¾_Ý» lÇùVÐ æOôçYç_Tö åYçc÷»» %ç\öîÜ™ö»ÝS YÉSï YÒ×TöZõ_X c÷Ì̂
EÇõÌ̂ ç`çÌ[ý æ»K÷çOô åZgõçOôçÌ̂  %çã_çÌ[ý %ç\öîÜ™öÌ[ýÝX YÉSï YÒ×TöZõ_X c÷Ì̂

(D) light is scattered by droplets in fog
EgÇõ¾_Ý» lÇùVÐ æOôçYç_Tö åYçc÷»» ×[ýãlùYS c÷Ì̂
EÇõÌ̂ ç`çÌ[ý æ»K÷çOô åZgõçOôçÌ̂  %çã_çÌ[ý ×[ýãlùYX c÷Ì̂

77. An object 2.5m high is placed at a distance of 10 m from a concave mirror of radius of carvature of 30m.
The size of the image is ..............
30 ×]Oôç» \öçL [ýîçaçWýï» %Tö_ VçãYçX AFX» Y»ç 10 ×]Oôç» VÇ»±¼öTö 2.5 ×]Oôç» CF _lùî [ýØ™Çö AOôç »ç×Fã_ =dY~ åc÷ç¾ç YÒ×Tö×[ý•ö» %çEõç»
c÷[ý ...........................
30 ×]OôçÌ[ý \öçL [ýîaçãWýïÌ[ý AEõ×Oô %Tö_ VYïX åUãEõ 10 ×]OôçÌ[ý VÉÌ[ýã±¼öÌ[ý 2.5 ×]OôçÌ[ý =»JÇô AEõ×Oô _lùî [ýØ™Çö Ì[ýçFã_ =dY~ c÷CÌ̂ ç YÒ×Tö×[ýã¶‘öÌ[ý %çEõçÌ[ý
c÷ã[ý ...............................
(A) 9.2 m (×].) (B) 10.5 m (×].) (C) 5.6 m (×].) (D) 7.5 m (×].)



78. The effective resistance between the points A and B in the figure is ......................
×$JôyTö A %ç»Ó B $» ]çL» a]TÇö_î å»çWý éc÷ä$K÷ .......................* / ×»Jôäy A A[ýe B AÌ[ý ]ãWýîÌ[ý a]TÇö_î åÌ[ýìWý c÷_ ...............................*

(A) 4Ω (B)

3Ω

(C)

2Ω

(D)

5Ω

79. Which of the following statements is incorrect ?
Tö_» åEõçXäOôç =×Nþ %£ˆùf / XÝä»JôÌ[ý åEõçX =×Nþ×Oô %£ˆù
(A) Ampere . second = coulomb (B) Joule / coulomb = volt

A×¶YÌ̂ ç» . æ$JôãEõ‰ø = EÇõ_¶‘ö / A×¶YÌ̂ çÌ[ý . æaãEõ‰ø = EÇõ_¶‘ö LÇ_ / EÇõ_¶‘ö = \ö·Oô
(C) volt / ampere = ohm (D) None of these

\ö·Oô / A×¶YÌ̂ ç» = C] (\ö·Oô / A×¶YÌ̂ çÌ[ý = C]) AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

80. The main power supply of a house is through a 20A fuse. When a 1500W heater is used in this house,
how many 100W bulbs can be used simultaneously ? (The supply is at 220V and the appliances are rated for 220V)
AFX H»» ]ÉFî ×[ýVÇîd å^çGçX AOôç 20 A×¶YÌ̂ ç»» ×Zõ=L» å^çãG×V ×VÌ̂ ç éc÷ä$K÷* H»FXTö 1500 ¾çOô» AOôç »Ó] ×c÷Oôç»» _GTö 100 ¾çOô»
×Eõ]çXOôç [ýç_Ÿ AãEõ_ãG [ýî¾c÷ç» Eõ×»[ý Yç×»* (^×V å^çGçX \öä·OôL 220 \ö·Oô %ç»Ó aç]GÐÝã[ýç» 220 \ö·Oô» c÷Ì̂ *)
AEõ×Oô HãÌ[ýÌ[ý ]ÇFî ×[ýVîd å^çGçX AEõ×Oô A×¶YÌ̂ çãÌ[ýÌ[ý ×Zõ=ãLÌ[ý ¥çÌ[ýç åVCÌ̂ ç c÷Ì̂ * HÌ[ý×OôãTö 1500 CÌ̂ çäOôÌ[ý AEõ×Oô Ì[ýÓ] ×c÷OôçÌ[ý [ýî[ýc÷çÌ[ý EõÌ[ýã_
100 CÌ̂ çäOôÌ[ý EõÌ̂ ×Oô [ýç_Ÿ AEõaçãU [ýî[ýc÷çÌ[ý EõÌ[ýãTö Yç×Ì[ý ? (^×V å^çGçX 220 \öä·OôL \ö·Oô C aç]GÐÝm×_ 220 \öä·OôÌ[ý c÷Ì̂ )
(A) 27 (B) 29 (C) 30 (D) 33

81. Ultrasonic waves have higher frequency than audible waves. They travel with the velocity of ...............
%×Tö`ç×ŒEõ Tö»eG» Eõ¶YXçeEõ ̀ ç[ýîaÝ]ç» Tö»eGTöêEõ å[ý×$K÷* +cg÷ãTö .................................... » å[ýãGã» G×Tö Eõã»*
%×Tö`ç×ŒEõ TöÌ[ýeãGÌ[ý Eõ¶YXçeEõ Ò̀ç[ýîaÝ]çÌ[ý TöÌ[ýeGãUãEõ å[ý`Ý* +c÷çÌ[ýç ............................. å[ýãG G×Tö EõãÌ[ý*
(A) light (B) electromagnetic waves (C)  sound (D) None of these

åYçc÷» ×[ýVÇîd$JÇô¶‘öEõÝÌ̂  Tö»eG      `Œ AOôçC Xc÷Ì̂
%çã_çÌ[ý ×[ýVÇîd JÇô¶‘öEõÝÌ̂  TöÌ[ýeãGÌ[ý      `ãŒÌ[ý AEõ×OôC XÌ̂

82. If the length of the pendulum is double, its time period .................
AOôç åVç_Eõ» éVHïî VÇmS Eõ×»ã_ +Ì̂ ç» Y ï̂îçÌ̂ Eõç_ .................................
AEõ×Oô åVç_ãEõÌ[ý éVHïî VÇmS EõÌ[ýã_ +c÷çÌ[ý Y ï̂îçÌ̂ Eõç_ .........................*
(A) increases (B) decreases (C) is doubled (D) is halved

[ýç×RÍô[ý / [ýçQÍöã[ý Eõ×][ý / Eõ]ã[ý VÇmS c÷[ý / VÇmS c÷ã[ý %çWýç c÷[ý / %çWýç c÷ã[ý
83. The split-ring type commutator is used in generators to ..................

×[ýVÇîd =dYçVEõTö ×&ÀOô-×»e Y×»[ýwïøEõ [ýî¾c÷ç» Eõ×» ..............................
×[ýVÇîd =dYçVãEõ ×&ÀOô-×Ì[ýe Y×Ì[ý[ýwïøEõ [ýî[ýc÷çÌ[ý EõãÌ[ý .....................
(A) convert AC to DC (B) convert DC to AC

Y×»¾TöÞ ×[ýVÇîdEõ AEõ]ÇFÝ ×[ýVÇîdé_ »ÖYçÜ™ö» Eõ»ç c÷Ì̂ AEõ]ÇFÝ ×[ýVÇîdEõ Y×»¾wøÞ ×[ýVÇîdé_ »ÖYçÜ™ö» Eõ»ç c÷Ì̂
Y×Ì[ý[ýTöÞ ×[ýVÇîdãEõ AEõ]ÇFÝ ×[ýVÇîãTö Ì[ýÖYçÜ™öÌ[ý EõÌ[ýç c÷Ì̂ AEõ]ÇFÝ ×[ýVÇîdãEõ Y×Ì[ý[ýTöÞ ×[ýVÇîãTö Ì[ýÖYçÜ™öÌ[ý EõÌ[ýç c÷Ì^

(C) induce voltage (D) induce magnetism
%ç×¾rô ×[ý\ö¾ã\öV =dY~ Eõ»ç c÷Ì̂ %ç×¾rô $JÇô¶‘öEõ±¼ö =dY~ Eõ»ç c÷Ì̂
%ç×[ýrô ×[ý\ö[ýã\öV =dY~ EõÌ[ýç c÷Ì^ %ç×[ýrô $JÇô¶‘öEõ±¼ö =dY~ EõÌ[ýç c÷Ì^



84. Which of the following is a redox reaction ?
Tö_» åEõçXäOôç å»Qöj ×[ý×yÔÌ̂ ç ? / XÝä»JôÌ[ý åEõçX×Oô åÌ[ýQöj YÒ×yÔÌ̂ ç ?
(A)

3 2CaCO CaO CO→ +

(B) 2 2H CuO Cu H O+ → +

(C) 2 22CaO HCl CaCl H O+ → + (D) 2NaOH HCl NaCl H O+ → +

85. Which of the following is a weak base ?
Tö_» åEõçXäOôç ]ÊVÇ lùç»Eõ ? / XÝä»JôÌ[ý åEõçX×Oô ]ÊVÇ lùçÌ[ýEõ ?
(A) Sodium Hydroxide (B) Potassium Hydroxide (C) Calcium Hydroxide (D) All of these

$K÷×QöÌ̂ ç] c÷ç+QÎö'%jç+Qö YOôç×$K÷Ì̂ ç] c÷ç+QÎö'%jç+Qö åEõ_×$K÷Ì̂ ç] c÷ç+QÎö'%jç+Qö %çOôç+ãEõ+Oôç
åaç×QöÌ̂ ç] c÷ç+QÎö'%jç+Qö YOôç×aÌ̂ ç] c÷ç+QÎö'%jç+Qö åEõ_×aÌ̂ ç] c÷ç+QÎö'%jç+Qö a[ýEõÌ̂ ×Oô

86. Which of the following is / are made up of bases ?
Tö_» åEõçXäOôç lùç»Eõã» éTöÌ̂ ç»Ý ? / ........................... lùçÌ[ýEõ ¥çÌ[ýç éTöÌ̂ çÌ[ýÝ*
(A) Antacid tablet (B) Soad (C) Toothpaste (D) All of these

A³Oôç×$JôQö æOô[ýã_Oô $Jôçã[ýçX OÇôUãYrô %çOôç+ãEõ+Oôç
A³Oôç×aQö æOô[ýã_Oô aç[ýçX OÇôUãYºOô a[ýEõÌ̂ ×Oô

87. Name an alloy that is used in the making of pressure cooker.
æYÒ$Jôç» EÇõEõç» [ýXçCãTö [ýî¾c÷ç» Eõ»ç aeEõ» WýçTÇöäOôç» Xç] ×_Fç* / æYÒaçÌ[ý EÇõEõçÌ[ý [ýçXçãTö [ýî[ýc÷çÌ[ý EõÌ[ýç aeEõÌ[ý WýçTÇö×Oô c÷_ ............................*
(A) Magnalium (B) Dur alumin (C) Alnico (D) Nikel Steel

å]GãX×_Ì̂ ç] QÇö» A_Ç×]X / QÇöÌ[ý A_Ç×]X %ç_×XãEõç ×XãEõ_ rôÝ_

88. Which of the following ores can be concentrated by the magnetic separation ?
Tö_» åEõçXäOôç %çEõ»» GçRÍôÝEõ»S $JÇô¶‘öEõÝÌ̂  YÊUEõÝEõ»S» ¥ç»ç Eõ»ç c÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô %çEõãÌ[ýÌ[ý GçRÍôÝEõÌ[ýS »JÇô¶‘öEõÝÌ̂  YÊUEõÝEõÌ[ýãSÌ[ý ¥çÌ[ýç EõÌ[ýç c÷Ì̂  ?
(A) Tin stone (B) Calamine (C) Zinc blende (D) All of these

×OôXrôX Eõç_ç]ç+X ×LeEõ æ[ýÀ‰ø %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô

89. The enzyme which converts glucose to ethyl alcohol is .................
`Eïõ»çEõ +$Uç+_ A_Eõc÷_ê_ Y×»[ýwïøX Eõ»ç AXLç+]×[ýWý éc÷ä$K÷ ................................*
`EïõÌ[ýçãEõ +Uç+_ A_Eõc÷ã_ Y×Ì[ý[ýTöÛX EõÌ[ýç AXLç+]×Oô c÷_ ..............................................*
(A) zymase (B) invertage (C) maltase (D) diastase

Lç+ã]L +X\öç»äOôL / +X\öçÌ[ýäOôL ]_äOôL QöçãÌ̂ $K÷äOôL / QöçãÌ̂ aäOôL

90. Isomerism explains the differnce in .................
a]ã^ç×GTöç+ ............................... » YçUïEõî [ýçFîç Eõã»*
a]ã^ç×GTöç+ ........................... AÌ[ý YçUïEõî [ýîçFîç EõãÌ[ý*
(A) molecular formular (B) molecular weights (C) chemical propertise (D) molecular-composition
   %ç×¾Eõ-aeãEõTö / %ç×[ýEõ-aeãEõTö %çX×¾Eõ-\ö» / %çX×[ýEõ-\öÌ[ý »çaçÌ̂ ×XEõ Wý]ï / Ì[ýçaçÌ̂ ×XEõ Wý]ï %çX×¾Eõ-a#ç /%çX×[ýEõ-

a#ç

91. The order of electron affinity in halogens is ..................
åc÷_ãLX» +ã_Eõ®ÏôX %ça×Nþ» yÔ]äOôç éc÷ä$K÷ ..........................* / åc÷_ãLãXÌ[ý +ã_Eõ®ÏôX %ça×NþÌ[ý yÔ]×Oô c÷_ .......................*
(A) F Cl Br I> > > (B)

I Br Cl F> > >

(C)

Cl F Br I> > >

(D)

Cl Br F I> > >

92. Stomach of man mainly digests ........................
]çXÇc÷» YçEõØšö_ÝãÌ̂  YÒWýçXTö ................................ Yç$JôX Eõã»* / ]çXÇãbÌ[ý YçEõØšö_Ý YÒWýçXTö ......................... Yç»JôX EõãÌ[ý*
(A) carbohydrates (B) Proteins (C) Fats (D) Sucrose
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93. Which of the following is the source of respiration ?
Tö_» åEõçXäOôç ̀ ŸaX» =da ? / XÝä»JôÌ[ý åEõçX×Oô ̀ ŸaãXÌ[ý =da ?
(A) Stored food (B) Fats (C) Glucose (D) Proteins

a×‡ûTö FçVî åØoöc÷ YVçUï `Eïõ»ç/`EïõÌ[ýç YÒ×OôX

94. Blood pressure is measured by an instrument called ........................
»Nþ$JôçY åLçFç %ç×c÷_çäOôç éc÷ä$K÷ .............................* / Ì[ýNþ»JôçY ]çYç ^Ü—ö×Oô c÷_ .....................................*
(A) manometer (B) barometer (C) sphygmomanometer (D) Photometer

å]X'×]Oôç» å[ý»'×]Oôç» ×&Gã]çå]X'×]Oôç» ZõOô'×]Oôç»
å]X'×]OôçÌ[ý å[ýãÌ[ýç'×]OôçÌ[ý ×&Gã]çå]X'×]OôçÌ[ý ZõOô'×]OôçÌ[ý

95. The conversion of protein waste and ammonia into urea occurs mainly in ..............
........................ Tö YÒWýçXTö YÒ×OôS» [ýLÛî %ç»Ó A]'×XÌ̂ ç +=×»Ì̂ çê_ »ÖYçÜ™ö×»Tö c÷Ì̂ *
............................... A YÒWýçXTö YÒ×OôãXÌ[ý [ýLÛî A[ýe Aã]ç×XÌ̂ ç +=×Ì[ýÌ̂ çãTö Ì[ýÖYçÜ™ö×Ì[ýTö c÷Ì̂ *
(A) kidneys (B) lungs (C) liver (D) intestine

[ýÊhõ c÷çCg-ZõçCg / ZÇõaZÇõa ^EÊõTö %Ü—ö

96. Fall of leaves can be prevented by ....................
......................... %Eõç_ãTö =×àöV» YçTö a»çTö [ýçWýç ×VãÌ̂ * / ........................ %Eõçã_ =×àöãVÌ[ý YçTöç MõÌ[ýçÌ̂  [ýçWýç åVÌ̂ *
(A) florigens (B) auxins (C) cytokinins (D) abscisic acid

nõ×»ãLãX / nõ×Ì[ýãLX %×jãLX $K÷ç+OôEõç+×XãX / a÷ç+OôEõç+×XãX A[ý×$K÷×$K÷Eõ A×$JôQö /A[ý×a×$a÷Eõ A×aQö

97. Embryo sac is found is ........................
............................... Tö }ÓS U_Ý UçãEõ* / ................................ A }ÓS U_Ý UçãEõ*
(A) endosperm (B) ovule (C) embryo (D) seed

}ÓSãYçbEõ ×Qö¶‘öEõ }ÓS [ýÝL

98. Hemophilia, a human disease, is caused by ................
.........................» ¥ç»ç ]çXÇc÷» ×c÷]×Zõ×_Ì̂ ç å»çG c÷Ì̂ .* / ......................... AÌ[ý ¥çÌ[ýç ]çXÇãbÌ[ý ×c÷]×Zõ×_Ì̂ ç åÌ[ýçG c÷Ì̂ *
(A) bacterial infection (B) fungal infection (C) mutant gene (D) viral infection

å[ýãkô×»Ì̂ ç L×XTö aeyÔ]S å\öEÇõ»L×STö aeyÔ]S ×LXÝÌ̂  %×XÌ̂ ] \öç+»ç$K÷L×STö aeyÔ]S
å[ýãkôÌ[ýÝÌ̂ ç L×XTö aeyÔ]S K÷yçEõL×STö aeyÔ]S ×LXÝÌ̂  %×XÌ̂ ] \öç+Ì[ýçaL×STö aeyÔ]S

99. The main aim of conservation and preservation is to .................
ae»lùS %ç»Ó aÇ»lùç» YÒWýçX =ã•`î éc÷ä$K÷ .................................* / aeÌ[ýlùS C aÇÌ[ýlùç» YÒWýçX =ã•`î c÷_ .................................
(A) preserve plants (B) preserve wild life (C) preserve fuels (D) preserve biodiversity

=×àöVEõ aÇ»lùç ×VÌ̂ ç [ýXî YÒçSÝEõ aÇ»lùç ×VÌ̂ ç +µùX» ae»lùS     éL¾ é[ý×$Jôy» aÇ»lùç
=×àöVãEõ aÇÌ[ýlùç åVCÌ̂ ç [ýXî YÒçSÝãEõ aÇÌ[ýlùç åVCÌ̂ ç +µùãXÌ[ý aeÌ[ýlùS     éL[ý é[ý×$JôäyÌ[ý aÇÌ[ýlùç

100. Haemoglobin has more affinity towards ...................
×c÷]'GÀ×[ýX» .................................. » YÒ×Tö %ça×Nþ å[ý×$K÷* / ×c÷ã]çGÀ×[ýãXÌ[ý .................................. AÌ[ý YÒ×Tö %ça×Nþ å[ý`Ý*
(A) CO (B) CO

2
(C) SO

2
(D) O

3

XXXXXX


